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T 2060484 101368 015.20.05.BID + AAVSO:0.71% @ AAVSO:1.03%  # AAVS0:099% ¥ TESS:0.05% & TESS:0.05% & TESS:0.05% % TESS:0.05%
A’Z\’CSO_ 1039% . diil ™84 AAVS0:126% ¥ AAVSO:1.38% & AAVS0:047% A TESS:0.05% ¢ TESS:0.05% ¥ TESS:0.05% ¢ TESS:0.05%
AAVSO. 1'700/" ® AAVSO:0.52% A AAVS0:056% 4 AAVSO:0.91%  H TESS:0.05% 4 TESS:0.05% A TESS:005% @ TESS:0.05%
AAVSO. 0'74; ¢ AAVSO:1.08% 4§ AAVS0:139% 4 AAVSO:1.02%  # TESS:0.05% 4 TESS:0.05%  # TESS:0.05% 4 TESS:0.05%
AAVSO, 1.89 (y" ¢ AAVSO:124% B AAVSO:1.56% % AAVSO:1.02% M TESS:0.05%  # TESS:0.06% TESS:0.05% ¢ TESS:0.05%
AAVSO, 1.89 0/" + AAVSO:0.81% M AAVS0:0.94%  © AAVSO:1.47% 4 TESS:0.05%  # TESS:005% W TESS:0.05% () Binned Data: 0.12 %
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AAVSO. 0.03 % + AAVSO:2.35% ¥ AAVS0:120% & AAVSO: 1.86 %
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